Year 5 and 6 Identifying clauses: Questions

A:

la. Complete the sentence by adding a
main clause before the subordinate
clause.

because the pitch
was waterlogged.
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1b. Complete the sentence by adding a
main clause after the subordinate clavse.

Despite the cold, .
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2a. Add a subordinate clauvse to the
sentence below which begins with
'because’.

Alfie ran away from the road
because
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2b. Add a subordinate clavse to the
sentence below which begins with ‘even
though'.

The party was a great success,
even though
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3a. Pippa thinks she has underlined the
subordinate clavse in the sentence
below.

Due to the weather, the

children had playtime indoors.

3b. Felix thinks he has vnderlined the
subordinate clause in the sentence
below,

The trip to the fayre was
cancelled because the

teacher was unwell.



